Solutions taadd.problemson kinematics

RDT 717 1D9% . B -2 191X Pw MINY nTIpIn HYwnb movan nR ol

g

e V0 W X3 0DRIT NP2 MUA2IRT NN RINW V00
1172 WRIND MWAINAT .2°YY 113 Wi °93 , AB i TR
anppat=L/V,

P70 17 23712 Y "% DRY 4B 9wn 7R X % DX 9023 OX : 393

DR Ve, =V, 07079 %P0 X-1 0% TIRY o Vv awnn
Versiner=J s

MMV 1IND
SR IP TIIRD X-71 778 DRI A 2 PWnY WK DR 9023 £ 7 Y2 IND1 PI0pT 1IR3

:DPAY , 7, PWNY 0NN PRYIN DRI 07D YW DIpni MR DR XXM

7,(t)=(V, cosa )z +(V, sino )p 2

P, () =(L— (7, cos BY)x +(V, sin B )7 3
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